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Multiple	choice	questions	
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Question	11	
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(a) tan .
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Question	12	
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3( 1) 1 3 3

(a) Let 1,2 3 8 3 5,  hence, divisible by 5.

Assume 2 3 5 ,  where  is an integer.

2 5 3 .

Required to prove that 2 3  is divisible by 5.
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Question	13	
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Horizontal asymptote 2.
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Question	14	

 

(a) (i)  (semi-circle angle)

For the same reason,  and 

 is a rectangle (three right angles)

(ii)  (= radii)

 (in a rectangle, the diagonals bisect)
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(iii)  (corresponding angles in
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 is a tangent (tangent is perpendicular to the

radius at the point of contact).
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2 25
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Dividing by 2,
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